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Answer the questions (1-2) according to the
passage below.

Larry is a 7th grade student in Britain. He
is twelve years old and he is a popular
boy at school. He is handsome with short
curly hair and brown eyes. He is tall
and slim. He is hardworking and all his
teachers like him. He is also honest and
thoughtful. He isn't mean, he is generous.
But he is a bit clumsy.

Which one is TRUE?
A)

B) Larry is stingy and clumsy.
C) Larry isn't short and fat.

D)

Larry is always careful when he carries something.

Larry never tells the truth.

Which table is TRUE for Larry?

A) f
APPEARANCE mean, clumsy, hardworking,
thoughtful
PERSONALITY handsome, tall, slim,
popular
B)
PERSONALITY honest, thoughtful, generous,
hardworking, clumsy
APPEARANCE handspme, short curly hair,
tall, slim
C) i
APPEARANCE hardworking, honest,
clumsy, thoughtful
PERSONALITY | twelve years old, slim, tall
D) :
PERSONALITY tall, sllm., handsome, short
curly hair
hardworking, clumsy,
AHAHSAFNNGS honest, thoughtful
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3.  Which one shows negative personal qualities?

4. She is slim. She has green

A)

He is honest and he always tells

the truth. He never tells lies. He is
supportive and generous.

He isn't rude. He is polite. He isn't
selfish, he is thoughtful. He isn't
lazy, he is hardworking. He is also
successful.

C)

He isn't overweight. He is of
medium - weight. He is tall and
well - built. He has short wavy
hair.

D)

He is lazy and mean. He is messy
'because he never tidies his room.
HHe is also stubborn and selfish.

eyes. She is tall.

No, he isn't. He is overweight.

He has short brown hair.

No, he isn't. He always comes
late.

When we match the questions with the answers,
which one is out?

A) Is your uncle slim?

B) What does your sister look like?

C) lIs your father punctual?

D) What is your brother like?
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7. Sinif / ingilizce

5-7: For these questions, choose the best
options to fill in the blanks.

5. Albert :Whatis your cousin like?
Bernard : ...
Albert : Do you like him?

Bernard : Yes, | do. We do lots of activities together.

A)

B) She is beautiful with big green eyes.
C) He is tall and well - built.

D) She has long straight hair.

He is easygoing and honest.

Erkan : My boss is angry with me.

Cedric : Why?

Erkan :Because I'mlate again. He likes ................

people, but | always go to the office late.

A) lazy B) clumsy

C) punctual D) pessimistic

Pelin : She is of medium - height with curly hair
and blue eyes. She is a beautiful woman.

A) What does your new Art teacher look like?
What does your new Art teacher like?
C

D

What is your new Art teacher like?

—_— - =

Does your new teacher like Art?

Which matching is FALSE?

A) ( lazy g‘ hardworking J
I&Q rude J
Ig‘ attractive J

B) ( polite

C) ( handsome

D) beautil 6% ugy

> g o 5
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Which ones should we replace?

-

Mike's Appearance

v g

A) honest - curly hair  B) handsome - punctual

C) optimistic - slim D) helpful - tall

10.

Colin has curly brown hair. She

is cute with dark brown eyes.
Who is Colin?
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Answer the questions (1-3) according to the
passage below.

a N\
Selin and Pelin are twin sisters. They are

twelve years old. They look like each other.

They are both tall and slim, but they have

different personalities. Selin is more outgoing

than Pelin. She has lots of friends, but Pelin
has only a few friends. Selin is also more
hardworking. Her marks are better than Pelin's
marks. But Pelin is more generous and more
helpful. They are both good girls.

Which one is FALSE?

A) They have different personalities.

B) Pelin is younger.

C)
)

D

Selin's marks are higher.
Pelin is more helpful.

than Pelin.

is more generous
has lower marks
has more friends

D) isn't more hardworking

Who are Selin and Pelin?

4-6: For these questions, choose the best
options to fill in the blanks.

A e, He can play basketball
well. But | can't play well because I'm shorter.
A) Arda is taller than me.
B) My sister is shorter.
C) Suna is taller than you.
D) My aunt is more stubborn.
5. Erdem : ... You or your brother?
Derek : My brother. He never changes his mind.
He always thinks he knows better
than anyone.
A) Are you lazier than your brother?
B) What does your brother do?
C) Where does your brother live?
D) Who is more stubborn?
6. George : ......cccccmoennnn ?
Emily : He's taller and slimmer than me.

He's also well-built.

A) What is your brother like

B) What does your brother look like
C) lIs your brother tall and slim

D) What does your sister look like
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7-9: For these questions, choose the correct
options according to the pictures or given
information.

10-12: For these questions, choose the best
option to fill in the blanks according to the given
information.

Edgar Fred

He has a lot of friends. He doesn't have

He likes sharing his
books, money and
food with his friends.
He likes going to the
cinema or cafe with

many friends. He
doesn't like going to
the cinema or a cafe
with friends. He likes
being alone.

them.

A)
B)
C) Edgar is mean and stubborn.
D)

Edgar is more friendly and generous.
Fred is more sociable and friendly.

Fred is more outgoing and optimistic.

Yigit and Yusuf work in a bank. Their
work starts at quarter past nine. Yusuf
gets up early and goes to the bank at
nine o'clock every morning. Yigit gets
up late and goes to the bank at quarter
to ten every morning.

A) Yigit is taller and stronger.

B) Yusuf is lazier.

C) Yigit is more generous.
)

D) Yusufis more punctual.

Mary's room is tidier.

Jane's room is neat, but Mary's room isn't.
Mary's room isn't messy.
Jane's room is messy.

Name: Richard

| Name: George

‘ Age: 16 Age: 14

‘ Weight: 50 kg H Weight: 90 kg

Height: 1,60 cm

1. How many friends
have you got?

V1-5 (J6-10

(J11-20 (3J20-30

2. Do you often buy
presents for your
family and friends?

IJYes (JNo

Height: 1,65 cm

1. How many friends
have you got?

‘ (J1-5 (6-10
J11-20 (3J20-30

2. Do you often buy
presents for your
‘ family and friends?

(Yes No

10. Richard ......cccoovvrimmrmmeeeennans

A) is slimmer. B) is older.

C) is fatter. D) has more friends.
11. George isn't ......ccceeervrrsiensians than Richard.

A) slimmer B) older

C) taller D) younger

12. George is more friendly and sociable because
A) he is 90 kg.
B) he has more friends than Richard.
C) he is more generous than Richard.
D) heisn't taller.






